Total No. of Questions—35] [Total No. of Printed Pages—2

Seat

No. [4169]-201

S.Y. B.Com. EXAMINATION, 2012
BUSINESS COMMUNICATION
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.
1. Distinguish between Oral Communication and Written Communication. [16]

2. What are the elements of good speaking ? How you will prepare
for an effective speaking or presentation ? [16]

Or
What is Listening ? Explain the principles and Barriers of good

listening. [16]

3. (@) Write reply to enquiry letter from Swastik Rubber Work Ltd.,
Patil Industrial Estate, Pune to the proprietor Star General

Stores, Bajirao Road, Pune about the price and time of delivery

of Raincoats, Umbrellas and Gum boots. [8]

(b) Draft the Annual Report of Board of Directors of Reliance
Petroleum Ltd., Nariman Point, Mumbai for the year ended

31st March 2010. [8]

P.T.O.



Or
(a) Write an unfavourable reply to M/s Shah and Company Baramati
regarding the Financial Standing of M/s Parmar & Company,
Nasik on behalf M/s Amar Electronics, Indapur. [8]
(b) Write a termination letter to Mr. Ashok Sawant, Shanti Niwas,
Ahmednagar on behalf of Amarsons Udyog Ltd., B.R. Ambedkar

Road, New Delhi, for unsatisfactory work. [8]

4, Describe the various electronic instruments used in modern

communication. [16]

5. Write short notes on (any fwo) : [16]
(@) Types of reports
(b) Contents of minutes
(c) Elements of application letter

(d) Contents and qualities of good notice.
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Total No. of Questions—4] [Total No. of Printed Pages—8+4

Seat
No. [4169]-202
S.Y. B.Com. EXAMINATION, 2012
CORPORATE ACCOUNTING
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

1. (@A)

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

Fill in the blanks (any five) : [10]

(2)

(i1)

(ii1)

(iv)

Shares issued at face value is known as..........cccccceeeenn.
and any call amount not paid by shareholders is known
AS.ieeeeeieiiieeeenenn, .

Accounting Standard (AS) 6 deals with....................... and
Accounting Standard (AS) 9 deals with....................... .
Loss prior to incorporation is known as.............cc........ and
post-incorporation profits are available for distribution
o) SOTTTUOR .

A company winding up by the court is called as.......................
winding up and government taxes includes in...................

creditors.

P.T.O.



(B)

[4169]-202

(v)

In case of Amalgamation if the value of net Assets taken
over is more than the payment made, the difference is
termed as........cccccevvennns and if the value of net Assets
taken is less than the payment made, the difference is

termed aS....coovieiiiiiiiiiiiaanan.. .

(VD) et of shares means converting shares of larger
denomination into shares of smaller denominations
and.....ccoovviiiiiiinie of shares means converting
shares of smaller denomination into shares of larger
denomination.

(vii) Profit earned by the subsidiary company after the date
of purchase of shares by the holding company are known
AS.iiiiriririieeeeeeeeeeananns profit and share premium of subsidiary
company should always be treated as...........cccccorrrrrnnnnn..
profit.

Write short notes on (any fwo) : [14]

(i)  Accounting Standard (AS)2

(i1) Forfeiture of shares

(iit) Amalgamation of a company

(iv) Scheme of capital reduction

(v) Holding company and Subsidiary company.

2



2. The following Trial Balance for the year ended 31st March 2011 is

extracted from the books of Mumbai Industries Ltd., Mumbai : [14]

Particulars Debit (Rs.) Credit (Rs.)
Land and Building 4,00,000 —
Plant and Machinery 15,00,000 —
Furniture and Fittings 80,000 —
Stock as on 1-4-2010 4,40,000 —
Salaries 1,10,000 —
Printing and stationery 20,000 —
Purchases 20,00,000 —
Carriage Inward 4,00,000 —
Wages 5,60,000 —
Calls in arrears 20,000 —
Share Capital (called up) — 10,00,000
General Reserve — 2,80,000
7% Debentures — 10,00,000
Sundry Creditors — 3,00,000
Bank Overdraft — 2,50,000
Debenture Redemption Fund — 3,50,000
Profit and Loss Appropriation A/c — 2,00,000
Bills Payable — 1,20,000
Trade Investment 60,000 —
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Cash in hand 20,000 —

Preliminary Expenses 40,000 —
Debenture Interest 35,000 —
Sales — 33,20,000
Directors Fees 45,000 —
Rent, Rates and Insurance 30,000 —
Bad debts 40,000 —
Audit Fees 30,000 —
General Expenses 70,000 —
Debtors 7,20,000 —
Bills Receivable 2,00,000 —
68,20,000 68,20,000

The following adjustments and information should be considered :

(@) Stock as on 31st March 2011 Rs. 14,00,000.

(b) Salaries outstanding Rs. 10,000 and Insurance prepaid Rs. 4,000.

(¢) Further bad debts to be written off Rs. 20,000 and create
a reserve for Doubtful Debts at 5% on Sundry Debtors.

(d) Interest on Debentures for six months is outstanding.

(e) Depreciate plant and machinery by 10% and land and building
by 20% p.a.

(/) The authorised share capital of the company is Rs. 50,00,000
divided into 50,000 equity shares of Rs. 100 each.

(g) Write off 25% of the preliminary expenses.
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(h) The Board of Directors have decided to make the following

appropriations :

(z) Transfer Rs. 50,000 to General Reserve.

(ii) Transfer Rs. 1,00,000 to Debenture Redemption Fund.

(ii1) Equity Dividend at 10% should be provided for.
Prepare Trading Account, Profit and Loss Account, Profit and Loss
Appropriation Account for the year ended on 31st March 2011 and
Balance Sheet as on that date.

Or

Bharat Electronic Ltd. invited application for 6,000 equity shares

of Rs. 100 each at premium of 10% payable as follows : [14]

On Application Rs. 20
On Allotment Rs. 40 (including premium)
On First Call Rs. 30
On Final Call Rs. 20

The applications received were for 10,000 shares and pro-rata allotment
was made to the applications of 9,000 shares, the remaining applications
were rejected and the application money was refunded. Excess
application money was adjusted against money due on allotment.
All money dues were received except first and final call on 100
shares of Mr. Ram, which were forfeited and these forfeited shares
were reissued to Mr. Shyam at Rs. 80 per share. Pass Journal

entries in the books of Bharat Electronic Ltd.
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3. A

[4169]-202

Goyal Limited was incorporated on 1st August, 2010 to take

over the running business of Mr. Sagar from 1st April 2010.

The Profit and Loss A/c for the year ended 31st March 2011

is as follows : [8]
Dr. Profit and Loss Alc Cr.
Particulars Rs. | Particulars Rs.
To Rent and Taxes 30,000 | By Gross Profit 2,10,000
To Electricity charges 4,800
To Salaries 72,000
To Directors Fees 6,000
To Auditors Fees 3,200
To Commission 12,000
To Advertisement 8,000
To Interest on Loan 6,000
To Discount 7,000
To Office Expenses 15,000
To Carriage 6,000
To Preliminary Exp. 13,000
To Bad debts 4,000
To Net Profit 23,000
2,10,000 2,10,000

6



(B)

[4169]-202

The total sales for the year ending on 31st March 2011 was
Rs. 10,00,000, divided into Rs. 3,00,000 for the period upto
1st August, 2010 and Rs. 7,00,000 for the remaining period.

Prepare a statement showing profit prior to and after incorporation

of Goyal Ltd.

Amit Ltd. acquired equity shares in Sumit Ltd. on 1-4-2010.
Their Balance Sheet as on 31-3-2011 were as follows :[14]

Balance Sheet as on 31-3-2011

Liabilities Amit Ltd. Sumit Ltd.
(Rs.) (Rs.)
Share Capital :

Shares of Rs. 100 each 5,00,000 3,00,000
General Reserve 40,000 10,000
Profit and Loss A/c 70,000 5,000
Bills Payable 50,000 25,000
Creditors 1,40,000 60,000
Assets Amit Ltd. Sumit Ltd.
(Rs.) (Rs.)
Land and Building 2,00,000 1,00,000
Plant and Machinery 1,50,000 2,00,000

Investments 2700 shares in Sumit Ltd. 2,97,000 —
Stock 40,000 30,000
Debtors 50,000 60,000
Bills Receivable 63,000 10,000
18,00,000 ~4,00,000
7 P.T.O.



4. (A)

Additional Information

(i) On the date of purchase of shares there was no balance
in General Reserve and profit and loss showed a debit
balance of Rs. 10,000 in the books of Sumit Ltd.

(i) Sundry Debtors of Sumit Ltd. include Rs. 40,000 due
from Amit Ltd.

(i) Bills payable of Sumit Ltd. include Rs. 18,000 in favour
of Amit Ltd. which has discounted Rs. 3,000 of them.

(iv) Stock of Sumit Ltd. includes Rs. 4,000 being purchased

from Amit Ltd. on which the company made a profit

1
of 335% on cost.

Prepare consolidated Balance Sheet with necessary workings
from the balance sheet of Amit Ltd. and Sumit Ltd.

Bad Luck Ltd. went into liquidation on 31-3-2011. The Balance
sheet as on that date was as under : [10]

Balance Sheet as on 31-3-2011

[4169]-202

Liabilities Rs.| Assets Rs.
Share Capital : Freehold Property 80,000
Issued and Subscribed : Plant and Machinery | 69,000
(z) 8000, 8% Preference Stock 75,000

shares of Rs. 10 each 80,000 |Cash in hand 1,000
8



(i1) 12000 Equity shares
of Rs. 10 each
5% Debentures
(Secured on Freehold
Property)
Income Tax
Trade Creditors

Bank Overdraft

1,20,000

60,000
4,000
65,000

30,000

3,59,000

Debtors

Profit and Loss

55,000

79,000

3,959,000

[4169]-202

(a¢) The interest on debentures were paid upto 31-3-2010.

(b) Preference dividend were in arrears for two years.

(¢) The assets realised were as follows :

Freehold property Rs. 1,60,000, Plant and Machinery

Rs. 62,000, Stock Rs. 73,000 and Debtors Rs. 50,000.

(d) The expenses of liquidation amounted to Rs. 5,000 and

liquidators remuneration was fixed at Rs. 1500 plus 2%

on all assets realised except cash.

(e) The creditors include the preferential creditors which

amounted to Rs. 5,000.

Prepare the Liquidator’s Final Statement of Account.

9
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(B)
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The following was the Balance Sheet of Navin Ltd. as on

31-3-2011 [10]
Balance Sheet as on 31-3-2011

Liabilities Rs. Assets Rs.
Share Capital : Freehold Property (23,75,000
15,000 7% Cumulative Plant and Machinery| 8,00,000
Preference shares of Goodwill 3,00,000
Rs. 100 each 15,00,000 | Stock 3,50,000
2,75,000 Equity Shares Debtors 2,25,000
of Rs. 10 each 27,50,000 | Preliminary Exp. 2,50,000
Share Premium A/c 4,00,000 | Profit and Loss A/c 7,50,000

Sundry Creditors 4,00,000
50,50,000 50,50,000

The following scheme of reconstruction was approved and duly

sanctioned :

(a) Preference shares to be reduced to Rs. 80 per share.

(b) Equity shares to be reduced to Rs. 5 per share.

(c)  Write off all intangible assets and share premium account.

(d) Freehold property to be written down to Rs. 18,50,000.

Give necessary journal entries to record the above transactions

in the books of Navin Ltd. Also prepare a Revised Balance

Sheet after the scheme of reconstruction as on 31-3-2011.

10
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Or

The following was the Balance Sheet of Poonam Ltd. as on

31-3-2011 :

Balance Sheet as on 31-3-2011

Liabilities Rs. | Assets Rs.
Share Capital : Goodwill 60,000
10,000 Equity shares Buildings 80,000
of Rs. 20 each 2,00,000 | Machinery 1,30,000
6000, 8% Cumulative Stock 50,000
Preference shares of Sundry Debtors 30,000
Rs. 20 each fully paid | 1,20,000 [ Cash 10,000
Debentures 80,000 | Preliminary Expenses 6,000
Sundry Creditors 20,000 | Profit and Loss 54,000
4,20,000 [ 4,20,000

The scheme of reconstruction was agreed as follows :

(@)

A new company to be formed “Sonam Ltd.” with an

authorised capital of Rs. 6,00,000 all in equity shares

of Rs.
(b)

10 each.

Two equity shares of Rs. 5 paid up in the new company

issued for every one equity share in the old company.

(c)

Four equity shares of Rs. 5 paid up in the new company

to be issued for every Preference share in the old company.

11

P.T.O.



[4169]-202

(d) Debentureholders to be allotted 8000 equity shares as
fully paid up in the new company.

(e) Sundry creditors to be taken over by new company.

(fAi The remaining equity shares to be issued to the public
and duly collected in full.

(g) The Assets of the old company to be taken over subject
writing down the value of machinery by Rs. 10,000.

Show the necessary ledger accounts in the books of the old

company and the opening journal entries and Balance sheet

in the books of new company.

12



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-203

S.Y. B.Com. EXAMINATION, 2012
BUSINESS ECONOMICS (MACRO)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.
1. Explain the nature, scope and limitations of Macro-Economics. [16]

2. Explain the process of multiple credit creation by Commercial Banks.
What are the limitations on credit creation ? [16]

Or
Critically examine the Fisher’s Quantity Theory of Money. [16]

3. Answer in brief :

(a) Explain the determinants of Consumption Function. [8]

(b) What are the causes of Inflation ? [8]
Or

(a) What are the factors influencing the marginal efficiency of

capital ? [8]

(b) State the primary functions of money. [8]

P.T.O.



4, Explain the Keynesian theory of output and employment in

detail.

5. Write short notes on (any fwo) :
(i)  Describe the phases of trade cycle
(i) Difficulties in measuring National Income
(iit) Nature and scope of Public Finance

(iv) Investment Multiplier.

(WS ®aia)

q% : o\ A TR T :

o :— (i) WA WA Hisfau ofemds .
(i) IEEEE SiF WA Yo [ eifaa.
(iii) oTRIh d9 Yoloh ITMHA hal.
(jv) TEUER Wb TUST TEAULAHRT TRIE.

1. YuUssll IeRmeme WEY, At ST HIiel TeE .

[Nl X G a WA o [aSl aXulal

[16]

[16]

80

[16]

2. ANUR Skt agfrd gatHdet i T . qafafHdiear iR gt

Jard ?
ferar
== 9o e fag=e feshrs afiteor .

3. dieH[ SW ;W
() SUNTTheT™ FuRe ¥ W= &7
(9) TSIl RO ST ?
fenar
(37) vregor= fgua Svsmder gRom 0 HeE Hivd 2
(@) et wafhs wE A
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4. SH A 3ARA 9 Yo fagrare afesdt TSR .

5. g four four (FvcmE dF)

(2)
(it)
(i17)
(iv)
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AN Fshl=AT AT

T I AU G TS

TESeh  STIeIde W®Y d SATA|

TTAaUeh  T[0Teh.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-204

S.Y. B.Com. EXAMINATION, 2012
PRINCIPLES AND FUNCTIONS OF MANAGEMENT
(Business Management)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Management ? Describe in detail the various managerial

levels. [16]

2. Explain the term scientific management. Describe the contribution
of F.W. Taylor in the development of Scientific Management
Thought. [16]

Or
(a) What is Decision Making ? Explain the various steps in Decision
Making. [8]

(b) Define Recruitment. Discuss the various sources of recruitment. [8]

3. (a¢) What is direction ? Explain the importance of direction.[8]

(b) Explain Maslow’s Need Hierarchy Theory. [8]

P.T.O.



Or
(a) State the barriers to communication. [8]

(b) Discuss the various techniques of Co-ordination. [8]

4, What is Disaster Management ? Explain importance, types and effects

of Disaster Management. [16]

5. Write short notes on (any fwo) : [16]
(a) Modern Indian Economic Thoughts of Dr. B.R. Ambedkar
(b) Essential qualities of a Leadership
(c) Steps in the process of control
(d) Event management.
(TS TUIR)
q% : A\ A TR T : 80
T :— (i) WA WA Hisfau ofemds .
(ii) 3IEhele 3 YO U SIifodr.

1. SFAEATTT WU K ? HIEATIr= fafay Urdesan forar X T2 &4, [16]

2. 'IMEY FERIE’ Hheddl TR . IS FTRAMS Th. €. <oty

RINCENRCEICEIC T [16]
feRar

(31) fofg =01 w|oN & ? T gfsadie fafag 9===n (@) e

R [8]

(9) wdr=n saren fou. widten fafay #mmi=n ==i . [8]
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3. (3 T =™ w@ ? FETe T TR w [8]

(9) ‘#RA’ A=A "Eet RS guften fagd dieRd W &wa. (8]
feRar

(37) UEERAG TS | [8]

(9) gHoEren fafay &=t == & [8]

4, I FIEE WO HE 7 AU HOLIA™ ", YR ST gRem|

W . [16]

5. du fe'r (RueEE dF) [16]

2

(i) T JEHRd AEEHTY AYHE oTfdw fouR T ®

(i) g AEERIE IO

(Gii) T gfwadie 9=

Gv) YET (AT SHIEUT).
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-205

S.Y. B.Com. EXAMINATION, 2012
ELEMENTS OF COMPANY LAW
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Define ‘Company’. Explain in detail the types of Companies.

2. Define ‘Memorandum of Association’. Explain the various clauses of
Memorandum of Association.
Or
What is meant by forfeiture of shares ? Explain the procedure and

effects of the forfeiture of shares.

3. (a) State SEBI’s guidelines for employees stock option scheme.
(b) Explain the secretarial functions relating to compromise.
Or
(a) Explain the concept ‘Directors Identification Number’ (DIN).

(b) Explain the difference between winding up and dissolution.

P.T.O.



4, Explain in detail the secretarial functions regarding Extraordinary

General Meeting of the Company.

5. Write short notes on (any two) :
(@) Duties of Directors
(b) Appointment of Managing Director
(¢c) Whole Time Director
(d) Minority Protection.
(WS wUT)
q% : o\ A TR T : 80

ol :— (i) ®d WA ANEE sTRd.
(i) ¥E YITAM FAM IO S

(iii) ERUES! T TUST YFAUAh] TRTE.

1. ‘U SO W hUA JRR HiOER TS .
2. ‘YA’ SFRSA Ul USANIhrEl fafa¥ sad TS .
ferar

AT Sl WIS i 2 YT Sl hiEdgdl 9 9UuTH TS H.

3. (31 HHAN YM-foswey deHaEd FeleA AReER {EA .
(9) desier=n AnqEeyid faetfiarst & &%+
feRar

(37) ‘Tuee @ wHE (DINY HohoUdl T .

(F) HUE TR 9 fagsi Adiad W TS H
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4. Hu RN FEHER g9ded et hrd Gfasdt TS .

5. dfya dw fowr (Foed@ @F)

(31) TAARET haod

(9) el HAhRE TH

(®) O o HaAh

(T) AquETih feauteo.
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Total No. of Questions—35] [Total No. of Printed Pages—3
Seat
No. [4169]-206
S.Y. B.Com. EXAMINATION, 2012
BUSINESS ADMINISTRATION
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Define organisation. Explain its characteristics. [16]

2. Discuss the concept of promotion. Discuss the stages of business

promotion. [16]

Or
Explain the social responsibilities of business towards different interest
groups. [16]
3. (A) Explain the features of joint stock. [8]
(B) Explain the types of co-operative society. [8]

Or
(A) Explain the elements and importance of productivity and
measurement of productivity. [8]
(B) Explain the objectives of quality circle. [8]

P.T.O.



4, Define privatization. Explain its objectives and impact on Indian

economy.

5. Write short notes on (any four) :

(1) Special Economic Zone (SEZ)
(2) Knowledge Processing Outsourcing (KPO)
(3) Industrial Sickness
(4) Total Quality Management (TQM)
(5) Sole Proprietorship
(6) Business Environment.
(TS ®UIR)
9% : i d™d

T :— (i) §d WA diefau eRds R

(ii) ISEhel® ok T YU U gFifadm.
({ii) TSHMEIE He3 TUSH U4l TRl

1. IEATTT US| h[ 7 HASATTAE] dfETssd  E.

[16]

[16]

TEOT T 80

[16]

2. IR AU IuH RO 9 HOEE FaHAS Ydeare fafay e

.

feRar

o o

[16]

SIEEAT=A]  HTHISh  Sdeclidie fafay Ter=ar geuidie wArfedl s

< .
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3. (1) UgH vieddl U ARTSeR WA 8]
() sl e fafay yer g9 [8]
fenar

(37) IURHIAG ¥eh o Hed HUNH SRHT HSHNE T HA. [8]

(§) TUER eI SeEl T W [8]

4, TEAHW WIS ®E 7 CSEIRTE 33l 9 9N ATt
gfomd = [16]

5. diewd foor fogr (foeE W w) [16]
(1) fowrme enfds &= (J9)
(2) R TENEAER FEUhed & (.S

(3) SIS SSIRY0
(4) TUET] SHAEAYA
(5) TUHhe AR

(6) U™ TIEIOI.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-207

S.Y. B.Com. EXAMINATION, 2012
BANKING AND FINANCE
Special Paper 1
(Indian Banking System)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain in detail the role of Banking system in Indian

Economy. [16]

2. What do you mean by Bank Nationalisation ? Discuss the arguments
for and against nationalisation of Banks in India. [16]

Or
Explain the role of State Bank of India in Indian Economy. [16]

3. (a) State the progress of Foreign Banks in India. [8]
(b) State the performance of Regional Rural Banks. [8]

Or
(a) State the recommendations of Narsimham Committee—I
(1991). [8]
(b) State the functions of State Co-operative Banks. [8]

P.T.O.



4, Explain the various methods of credit control. [16]

5. Write short notes on (any fwo) : [16]
(i) District Central Co-operative Banks
(ii) Management of Non-performing Assets (NPAs)
(iiz) Organisation of Reserve Bank of India
(iv) Principles of Co-operation.
(TS TUIR)
q% : dF A TR T : 80
o :— (i) WA WA Hisfau ofemds .
(i) ISEIhele 3 U U SFifadm.
({ii) WSWHIE T SUSH WIAUCAR] gTEl.

1. 9 SdEeddic 9 Joerd fyel dfawr ' & [16]

2. SH™ UREERW WUN HE 7 URAS 6 TSR aeH a fadedt

a9 geRiaE T [16]
fepar

IO TSNS IRAT W st et TIe H. [16]

3. (31) YRA® WA dhMet WAl HE. 8]

(9) URRTH UM SRt HEAR T [8]
fepar

(31) Rfggw wfadi-1 (1991) =0 FTwreEt @, [8]

(9) TG el Shi=l &E T [8]
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4, vatsoren fafay ugdie foreoww . [16]

5. 9w du o' (FveEE @|) e [16]
(G) fSc&r guedl Hesil oo

(aV

({i) STR® Sy e

~

(i) YA fEed de9 T"ed
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

S.Y. B.Com. EXAMINATION, 2012
BUSINESS LAWS AND PRACTICES
Paper 1
(2008 PATTERN)

Time : Three Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

No. [4169]-208

: 80

1. Explain the terms and condition for registration of Co-operative Society

under the Maharashtra Co-operative Societies Act, 1960 ?

[16]

2. Describe the penalties under Maharashtra Agricultural Produce

Marketing (Development and Regulation) Act, 1963.
Or

[16]

Describe the various types of meeting under the Maharashtra

Co-operative Societies Act, 1960.

3. (a) Explain the basic principles of Life Insurance.
(b) Explain the terms in Marine Insurance Policy.

Or

(a) Advantages of Life Insurance.

(b) Procedure of receiving amount of Insurance Claim.

[16]

[8]
[8]

[8]
[8]
P.T.O.



4, Explain the term Life Insurance Policy. Describe the types of Life

Insurance Policy. [16]

5. Write short notes on (any fwo) : [16]
(i) Features of Marine Insurance
(it) Measurement of Insurable Value
(itzi) Insurance Premium
(iv) Duties of the Policyholder.
(TS EUIR)
q% : o\ A TR T : 80

ol :— (i) §d WA ARIR AR

({ii) ERUEE! Hes TUST YFAUAh] TRrE.

1. TRRI Gehil AT HIET, 1960 3TAd WehRl GLl Feuidrel Aazdeh STu=
3l oTfoT TS | [16]

2. TR F SA- wial-faw! (fowm@ sufor fram) eifufm, 1963 swad
froar=n  ScouqreTed  STHO=aT fB1en 9. [16]
ferar

TERTSE. TehRl T HIEl, 1960 3idid 999 fafay R == &3 [16]

3. (31) Sem fom=h qoyd I« @i 8]

(&) | fad ASMT URIIdie ST | [8]
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fepar

(31) Siem famm wEE 9. [8]

() fo=m 19 fhofavamt wrfugd. [8]

4, Sitoqg fom & Hheud W FHU. Siad fa| U9 UeR T 4. [16]

5. diedd da fom (FO0E gM) [16]
(i) Era fommh afirse
(i) fao geamn mEE

(tii) famm g

(jv) foMuRE=t Fda.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-209

S.Y. B.Com. EXAMINATION, 2012
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Give a brief history of Co-operative legislation in India. Explain the
impact of Co-operative Societies Act, 1904 and 1912 on Co-operative

Movement in India. [16]

2. Explain in detail the modified principles of Co-operation. [16]
Or
Explain the objectives and progress of Multi-state Co-operative Societies

in India. [16]

3. (a) Give a brief history of Co-operative Movement in Maharashtra. [8]
(b) Explain the problems of Urban Co-operative Banks in
India. [8]

Or
(a) Explain in detail group approach of rural development. [§]
(b) Explain strategy for development of model village. [8]
P.T.O.



4, Describe the contribution of Dr. Karmaveer Bhaurao Patil in social

reforms and rural development. [16]

5. Write short notes on (any fwo) : [16]
(i)  Effects of Globalisation on Rural Development
(ii) Panchayat Raj System and Rural Development
(iiz) Thoughts of Mahatma Jyotiba Phule about Rural Development
(iv) Limitations of Panchayat Raj System in Rural Development.
(TS TUI)
q% : o\ A TR T : 80

9

ol :— () Wd WA defau oTeRdE  STRd.
(i) SSEl®Els Fh YU U i

1. YRATIS Tghil shraedr=l ISsd 3faerd = YRA e HehRl Hedcsiol HeshR

TR HEST 1904 O 1912 =N JUE TR AL [16]

2. UIHNE GURd dc HigeR ¥ . [16]
feRar

IRAN® dg0ed HehRl S¥ar= 3fEse oftn Wl ¥ & [16]

3. (3) HENWMG Hehil FBdcial diedd fag™ . [8]

(9) 9RAM® AT HehRl SR Tl e FH. [8]
feRar

(31) UHIO foehrar=n g TRl Hio&X T . [8]

(&) ofreEi U foeharEd=l e W w4 8]
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4, TS GUROT 07 Jeior fashr amed Sf. wHAR 9edd URIG A=l InRHT

U H. [16]

5. dieHd du fow (FuE M) [16]
(i) SIFTAehIehIome UHOT faehEEe qRomH
(ji) TEEdUS oo omfor U faed

Ne

(iii) T fowmEeHd qeem <ifden ®o A foeR

(jv) U foREde TER6aS FEe= qIQ.
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Total No. of Questions—35] [Total No. of Printed Pages—4+1

Seat
No. [4169]-210
S.Y. B.Com. EXAMINATION, 2012
COST AND WORKS ACCOUNTING
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. (A

(B)

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

Fill in the blanks : [5]
(i) Cost accounting is........ccccceeeeenn.n. to financial accounting.
(i1) Controllable cost is a.........ccccceeeenneee. cost.

(iit) A good costing system gives equal emphasis on

(iv) ABC Analysis is popularly known as...........ccccee...... .

(v) The adoption of........................ method of pricing material
issues is proper at the time of rising prices.

State whether the following statements are True or False : [5]

(i)  Cost accounting is applied only in manufacturing organisation.

(i1) Costing techniques means those applied for analysis and

interpretation of cost data.

P.T.O.
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(iit) Inventory means finished stock only.
(iv) The benefit of the time saved is equally shared between
employer and employee in Halsey Plan.

(v) In case of quality output, piece rate system is preferred.

2. Explain the concept ‘Cost Accounting’. State the advantages and
limitations of Cost Accounting. [15]
Or
Explain briefly the functions of the purchasing department in a large
manufacturing concern. [15]
3. Write short notes on (any three) : [15]
(i)  Centralised store with sub-stores
(ii) Inventory control
(itzi) Manual methods of time keeping
(iv) Incentive plans
(v)  Labour turnover.
4, (A) From the following particulars, prepare a cost sheet showing

the components of total cost and profit for the year ended

31st March, 2011 : [15]
Particulars Amount
Rs.
Stock of finished goods on 1-4-2010 6,000
Stock of finished goods on 31-3-2011 15,000
2



Stock of raw materials on 1-4-2010 40,000

Stock of raw materials on 31-3-2011 50,000
Work-in-progress on 1-4-2010 15,000
Work-in-progress on 31-3-2011 10,000
Purchases of raw materials 4,75,000
Income Tax 5,000
Carriage inward 12,500
Dividend received 2,500
Wages 1,75,000
Works manager’s salary 30,000
Interest on debentures 10,000
Factory employees’ salaries 60,000
Transfer to Sinking Fund 20,000
Factory Rent, Taxes & Insurance 7,250
Preliminary Expenses 10,500
Power Expenses 9,500
Other production expenses 43,000
Sales for the year 8,60,000
Selling expenses 16,000
General expenses 32,500

[4169]-210 3 P.T.O.



(B)

5. (A)

[4169]-210

On the basis of the following information, calculate the earnings
of Krishna and Madhav under Taylor’s differential piece rate
system : [5]
Standard production : 10 units per hour
Normal time rate : Rs. 25 per hour
Differential Piece Rate to be applied :
(@)
(i1)

Actual performance :

80% of piece rate for below standard performance

120% of piece rate for at or above standard performance.

Krishna produced 66 units in a day of 8 hours.
Madhav produced 90 units in a day of 8 hours.

From the following particulars write up the Priced Stores Ledger

Account under Last-in-first-out method : [10]
Date Particulars Units Value
Rs.

April 1 | Balance in hand b/f 300 |Rs. 2=00 per unit
April 2 | Purchased 200 [Rs. 2=20 per unit
April 4 | Issued 150

April 6 | Purchased 200 |Rs. 2=30 per unit
April 11 | Issued 150

April 19 | Issued 200

April 22 | Purchased 200 [Rs. 2=40 per unit
April 27 | Issued 250

April 28 | Issued 50




(B)

(B)

[4169]-210

From the following data,

calculate the inventory turnover ratio :

Particulars Material X  Material Y
Rs. Rs.
Opening stock 25,000 87,500
Closing stock 15,000 62,500
Purchases 1,90,000 1,25,000
Determine the fast moving material. [10]

Or

Standard time allotted for a job is 20 hours and the rate

per hour is Rs. 2 plus a dearness allowance @ 50 paise per

hour worked.

The actual time taken by a worker is 15 hours. Calculate the

earnings under,

(i) Time Rate System

(ii) Halsey Premium Plan

(zi1) Rowan Premium Plan. [10]



Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

o, [4169]-211

S.Y. B.Com. EXAMINATION, 2012
BUSINESS STATISTICS
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator and statistical tables is allowed.

1. (A) Attempt any four of the following : [2 each]
(a) For the given data,
Mean = 58,
Mode = 64 and S.D. = 20,
find Karl Pearson’s coefficient of skewness.
() If p'y = 1, n'9 = 4, calculate variance.
(¢c) Define Autoregressive model.

P.T.O.



(B)

[4169]-211

(d) State whether each of the following statements given below
is True a False :
(i) The multiple correlation coefficient lies between
-1 and 1.
(ii) For a symmetric distribution, mean, median and mode
are equal.
(e) State three methods of collecting vital statistics.
(/) What do you mean by extrapolation ?

Attempt any two of the following : [6 each]
(a) Calculate trend values of 5-yearly period of moving average

from the following series :

Year Sales (000)

1974 50.0
1975 36.5
1976 43.0
1977 44.5
1978 38.9
1979 38.1
1980 32.6
1981 38.7
1982 41.7
1983 41.7
1984 33.8

2



(b) Determine an initial basic feasible solution to the following
transportation problem by using matrix-minima method (mmm).

Also find corresponding cost of transportation.

From To Warehouses Capacity
A B C
I 1] 2| 3| 50
II 3 | 2 1 80
II1 4| 5| 6| 75
v 3| 1] 2| 95
Requirement 120 80 100 300

(¢c) The first four raw moments of a frequency distribution are
1.5, 17, -30, 308 respectively. Comment on the nature of Skewness

and Kurtosis.

2. Attempt any two of the following : [8 each]
(@) If Clx) = 5x% + 3x2 — 20 is the manufacturer’s total cost
equation, find :
(i) the average cost
(i1) the average variable cost
(iizt) the average fixed cost

(iv) the marginal average cost.

[4169]-211 3 P.T.O.



b)) @)

education :

Employed graduates
Unemployed graduates
Employed undergraduates

Unemployed undergradates

The following is the information on employment and

48,

450

= 216.

Compute coefficient association between employment and

education. Comment on the result.

(i1)

Maximize :
z = 10xq
Subject to :
dx1 + x9
X1 + 3x9
*2
X1, X9
(¢) Given :
X, = 28.02,
o1 = 442,
rig = 0.3,

X9

09

8x 2

90
80

20

= 491,
= 1.10,

r13 = 04,

Obtain dual of the following linear programming problem :

¥, = 5.94
03 = 8.5
r23 = 0.56

Obtain the equation of least square plane of x; on x9 and

xg. Also estimate x; when x9 = 6.5 and xXg =

[4169]-211
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3. Attempt any two of the following : [8 each]

(@)

(b)

[4169]-211

Using simplex method, solve the following L.P.P. :
Maximize :

z = 4xq1 + 10x9
Subject to :

2x1 + x9 < 90

2x1 + bxg < 100

2xq1 + 3x9 < 90

x1 >0 x9 > 0.

Using Lagrange’s Interpolation formula find the value of Y when

X = 9.5.
X Y
7 3
8 1
9 1
10 9
5 P.T.O.



(¢) Find initial basic feasible solution of the following transportation

problem using VAM :

To - I 11 I11 IV Availability
From |
A 3| 6| 8| 5| 450
B 6| 1| 2| 5| 500
c | 1 8 | 8 | 9 350
Requirement 250 350 400 300 1300
Also find the corresponding transportation -cost.
4, Attempt any two of the following : [8 each]

(@)

[4169]-211

From the following information calculate G.F.R. and T.F.R.

Female No. of Female No. of
Age Group (’000) Births
15-19 16.0 260
20-24 16.4 2244
25-29 15.8 1894
30-34 15.2 1320
35-39 14.8 916
4044 15.0 280
45-49 14.5 145

6



(b) The population of a town in the different year was as given

below. Using Newton’s method, estimate the population for the

year 1947 :
Year Population
1941 28.0
1951 29.4
1961 30.5
1971 35.5

(¢) () Explain additive model and multiplicative model in time
series.
(ii) Define the terms :
(I)  Positive class
(II) Ultimate class
(ITT) Profit function
(IV) Break-even point.
5. Attempt any two of the following : [6 each]
(a) Estimate trend by fitting straight line equation to the following

time series :

Year Sales (°000)
1992 20
1993 22
1994 23
1995 20
1996 18

Also obtain the trend value of sales for the year 2000.

[4169]-211 7 P.T.O.



(b) A company has to assign five workers to five jobs. The cost

matrix is given below :

w I II III 1\Y \Y
Workers
A 7 6 9 12 17
B 2 14 17 2 11
C 17 12 9 9 9
D 10 15 13 11 17
E 11 14 12 9 17

Find an optimal assignment for minimization.
(¢c) Obtain CDR and STDR for city A and city B. Take city B

as standard population :

Age Group City A City B
Population | Death | Population | Death
Below 10 600 18 400 16
10-20 1000 15 1500 6
20-60 3000 24 2400 24
60 and above 400 20 700 21

[4169]-211 8



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat [4169]-212
No.
S.Y. B.Com. EXAMINATION, 2012
BUSINESS ENTREPRENEURSHIP
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Innovation ? State various sources of Innovation. [16]

2. Explain Entrepreneurial career of Mr. Vitthal Kamat. [16]

Or

State definition, meaning and functions of an Entrepreneur. [16]

3. A

(B)

(A)

(B)

Distinguish between Service Industry, Trading and Manufacturing

Industry. [8]

State the advantages of Group Entrepreneurship. [8]
Or

Write a short note on Below Poverty Line and Above Poverty

Line. [8]

State various opportunities to service industry in Rural
Area. [8]

P.T.O.



4, What is Entrepreneurship Development ? State various problems

in its development in India. [16]

5. Write short notes on (any fwo) : [16]
(A) Entrepreneurial competencies
(B) Leadership by example
(C) Modus Operandi of self-help groups

(D) Benefits of Business Process Outsourcing.

(WS ®aia)

1. TS =S ®@ ? TaHde fafay 9@ fer s [16]
2. ot focge wmd A= FMNfRT FRfAE TR HA. [16]
fenar

ANl e, Ad oo w1 fR| &+ [16]
3. () Tar UM, HAMNR AN d ST SN Ao Wi 9r. 8]
(9) wifgsw IEehdd ®Ee fa@e & 8]

[4169]-212 2



fepar

~

(37) ‘Tcg TE@e 9 Tisd Waie JeR fag fom [8]

(9) wWHT 9rMde o1 Surmeeen fafay 9dt fae & [8]

4. SEiSlehal foohd WU ™ ? YRAdie Seisichdl foshddie fafay ww e

f=e = [16]

5. diedd du fow (Rvem@ @q) [16]
(37) NI FeTHd

(d) SESh Teh e — e

(F) THIEUERMAN Tl SHrEgSd

(8) <Y TEaEdiHaId BRG.

[4169]-212 3 P.T.O.



Total No. of Questions—35] [Total No. of Printed Pages—3

. [4169]-213
S.Y. B.Com. EXAMINATION, 2012
MARKETING MANAGEMENT—I
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Marketing ? Explain the importance of Marketing. [16]

2. Define price mix. Explain the elements and strategy of price mix. [16]

Or
Define consumer movement. Explain the principles and objectives
of consumer movement. [16]
3. (A) Explain the marketing strategies for services. [8]
(B) Explain the role of transport services in Marketing. [8]
Or
(A) Explain the importance of Marketing Communication. [8]

(B) Explain the principles of Customer Relationship Management
[CRM]. [8]
P.T.O.



4, What is agricultural marketing ? Explain the scope and importance

of Agricultural Marketing. [16]

5. Write short notes on (any fwo) : [16]
(A) Challenges facing marketers;
(B) Importance of Insurance Services in Marketing.
(C) Features of effective Consumer Relationship Management.
(D) Importance of consumer education.
(TS TUIR)
d9% : o a™ THUT 7T : 80

1. fgquE WS & ? fouoHAe Jgd T R [16]

2. ‘feua-fay’ =t = @ feud-fasm wew onfor sie To= +U. [16]

fepar
‘UTeh  FJosddidl’ ATl Il. UTeh dddeidl dcd AT 3Ifese TS
EXip [16]
3. (31) Yar=w founEERE SEUE W HA. [8]
(9) dRqe dar fouuErde e s . 8]
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fepar

(31) faqum G #ed f@RE %L [8]

(9) URH HaY FORATANE] dod T . [8]

-~

4. qHTe fa9uE WU ™ 7?7 IdHIe [OUUERET SaTwdl AUl HEed TS
. [16]

5. dieqd du for (Rem@ @F) [16]

N o LN

Tae AR,

-

(31) fauuHere

(F) fam 9a= foayoErie Hed;
(%) TN Uk oy HILAIA=T AT
() UrH RIS Hed.
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Total No. of Questions—35] [Total No. of Printed Pages—3

S;“‘t [4169]-214

S.Y. B.Com. EXAMINATION, 2012
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the nature and scope of Agricultural Economics. [16]

2. Explain the defects of Agricultural Marketing, and suggest the measures
to solve it. [16]

Or

Explain the role of Industrialization in economic development. [16]

3. (A) Explain the measures to improve the Agricultural productivity
in India. [8]

(B) Explain the factors determining the optimum size of firm. [§]
Or
(A) Explain the institutional sources of Agricultural Finance. [§]

(B) Explain the factors affecting Industrial efficiency. [8]
P.T.O.



4, Explain fully the Sargent Florence’s theory of Industrial Location. [16]

5. Write short notes on (any fwo) : [16]
(A) Causes of low Agricultural Productivity in India.
(B) Effects of subsidies in agricultural prices.
(C) The concept of Plant, Firm and Industry.
(D) Factors influencing Industrial productivity.
(TS TUIR)
q9% : o a™ THUT TOT : 80

({ii) TSUEES e TUSH WRAUCIHT Ul
1. T AW WEI U AT T HL [16]

2. IdATe famicgaeddie AT T HhEd, d [T ST HITIME! IUM

- [16]
fepar

smfeier foemma  SieifiRtom=l  yfieh T & [16]

[aV

3. (31 9@ IRAT IARHId GUROT BUAEREE SUF TR R [§]

() UM TN YW STRIHN SdUR e T . [8]
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fepar

(37) FH fouEcae TErEEd 9| TR A 8]

(F) oiEifer wEdegHaerR IR HOM Fesh TR FH [8]

4. IiENfe wum fAR=dsn ged 5o g faga 9fassm T+, [16]

5 dew@ du fow (FvemE |@M) [16]
(31) 9T Il Rl IcAIGehdl  STHUITET Rl

(@) A feradedie sHgEM g,
() EIH, SUNTHE F SEERl A1 Hehoddl.
(8) siEfd SARHIR IR FHOM  =H.
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Total No. of Questions—4]

Seat
No.

S.Y. B.Com. EXAMINATION, 2012

[Total No. of Printed Pages—4

[4169]-215

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Time : Three Hours

Paper 1
(2008 PATTERN)

N.B. :(— (i) All questions are compulsory.

(i1)

1. Answer in 2A) words each (any ten) :

(D)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)

Define Leadership.
Explain the meaning of National Power.

Define war finance.

Maximum Marks : 80

Figures to the right indicate full marks.

[20]

What do you mean by Defence Vs. Development ?

Write the Long form of DPSU.

What do you mean by strategic control ?
Define Zero Base Budgeting.

State the meaning of Deficit Finance.

Define threat perception.

What do you mean by Resources for Defence ?

P.T.O.



(11)

(D)
(2)
3)

(4)
[4169]-215

State the meaning of self-Reliance.

(12) Write any fwo aims of peace time economy.
(13) What do you mean by defence as an economic problem ?
2. Answer any fwo mn 9 words each (any two) : [10]
(1) Explain ideology and National Security.
(2) Discuss ‘Threat Perception’ and Defence Expenditure.
(3) Describe mobilization of Resources for Defence.
(4) Explain methods of War Finance.
3. Answer any fwo mn 150 words each : [20]
(1) Discuss merits and demerits of war-time economy.
(2)  Explain the role of Research and development in defence production.
(3) Discuss effects of war on industry.
(4) Explain relationship between War and Economy.
4, Answer any fwo m 300 words each : [30]

Describe India’s defence expenditure since 1990’s.
Explain characteristics of Indian Economy.
Discuss the role of private sector in defence production.

Examine defence and development go side by side.

2



q% : o\ A THUT T

(WS ®aia)

o :— (i) Wd YA Hisfau ofemds .
(i) SVEhE® 3 U O Sl

1. TR
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

2. R
(1)
(2)
(3)
(4)

[4169]-215

D TE[ SW oA (Rl @)
Aqc AT

AR EI G ) ec e | §

9 BEAFE AT L.

wgn foeg oo =N @ 2
S . . g W gl wWeu fem

A e w|us R ?

A YR HAdHTed A <.

ferifie wRAMT 31d S &

= Hehoddl el T

TWIEES! IR WS & 2
Hoh-Reerw=n o1 o

IAaeRed  sTdeeee @H ¥ e &
W T T AMdw T e BN & ?

D I=E SN A (PG Q)
foamrym sfr Ui gram wWee w4
Il HehoUdl ST TG T Jeled 9= .

GRS HIEFHI=  Mfaa=dT 9o= .

AN HEAFIT Ugdl WS .

3

80

[20]

[10]

P.T.O.



3. T 10 I=H SW SN (RUE gF) e [20]

(1)  gghieid  derg=a1 TU-SVeed <l .

(2) WU IARAMG e e faswmErt gfie T &
(3) gS™ SIEfeh &FeR quren gRumEee ==

(4) J§ ool AN I FaY T B

4. TR 300 I=H SR SN (ROE gF) e [30]

(1) 1990 FaT=Al YRArAT TIU @Ed 99 HA.

(2) YA TR dRiTse TR A

e

(3) WU SARANG TN &= gfHsh< ==l &

~

(4) ‘“‘USTEdosd WIEUESSd o fIhg-hMehH  Uefdul. '’ qiieqo &
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

N [4169]-216
o.

S.Y. B.Com. EXAMINATION, 2012
INSURANCE, TRANSPORT AND TOURISM
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define ‘General Insurance’. Explain the scope and principles of General

Insurance. [16]

2. Define ‘Insurance Agent’ ? Explain the role of Insurance agent in

Insurance Business. [16]
Or

What is Life Insurance ? Explain the various types of Life Insurance

Policies. [16]

3. (A) Explain the organisation structure of Life Insurance Business.

(B) Explain the input of Tourism on cultural aspect of the

society. [16]
P.T.O.



Or
(A) State the regulations of insurance in India.

(B) Explain the responsibilities of Tour Operator. [16]

4, What is Tourist-Accommodation ? Explain the significance and types

of Tourist Accommodation. [16]

5. Answer the following questions (any two) : [16]
(A) Write a note on Educational Tourism.
(B) State the essentials of Tour Planning.
(C) Explain the various types of tours.
(D) Evaluate the different types of Tourists.
(TS EUIR)
q% : A A TR T : 80
o :— () WA WA Hisfau ofemds .
(ii) 3IEhele 3 YO U SIifodr.
1. ‘wduyre foE=l’ wmem 9 ? gdayren fosmn s e 9.
e A [16]

2. ‘fowr-yfafqei=n' =men w2 fom =gedmna fam gfafei=i  (Insurance
Agent) VAT TR HT. [16]

feRar
‘egfad’ wUN wE 7 egfawm didRie fafaw geR ww U [16]
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3. (37) SAGfIH FaEEr HoeAH® A TR

(9) TUNTNG WEhde SeR el USURl Y9E W& 4. [16]

fepar

(37) 9Rde fomren "euide f=m =

(F) IEN-SESh= SEg= T2 . [16]

4. THemr-fagerasar ®wue S ? THeh-ad HaE "gd U YRR T
. [16]

5. WO ARl SWoA (RUAE dd) [16]
(31) DNegforer w@ieq TR feu fomn

() IEn-fESr=n oTeRash ael |

(%) IR (Tours) fafdy TR T H.

(8) vYdewra fafay gowr fore =
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! [4169]-217
S.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper 1
(Visual Basic)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.
1. (A) Answer the following questions (any four) : [8]

(1) Differentiate between Checkbox and Radio Button in V.B.

(2) What do you mean by array ?

(3) What is event ? List any 2 events used in V.B.

(4) Define operator.

(5)  What is the purpose of progress bar in V.B. ?

(B) Give the output of the following section of code (any two): [8]

(1) Dim sum, no as integer

Private sub-command click ( )

Sum = 0
for no = 1 to 10
sum = sum + no
Next
Print sum
End sub.

P.T.O.



(2) Dim i as integer

Private sub-command click ( )

i=1
Db While i < = 10
Print 1
1 =1+ 1
Loop
End sub.

(3) Dim k as integer
Private sub-command_click ( )
For k = 16 to 24 step 2
Print k
Next
End sub.

2. Attempt any two of the following : [16]

(1) Explain the steps to connect with oracle using ADODC control.

(2) Why is V.B. called Event-Driven Programming Language ? Write
features in V.B.

(3) Explain the use of six types of Common Dialog Box used
in V.B.

3. (A) Write purpose and syntax of the following (any four) : [8]
(1) Message box
(2)  Picture box
(3)  Dirlistbox
(4)  Scrollbar

(5) Line control.
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(B)

(1)

(2)

3)
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Write properties and methods of the following (any two) : [8]
(1) List Box
(2)  Combobox
(3) Text Box.

4, Attempt any two of the following : [16]
(1) Explain different data types used in V.B.
(2) Explain string and numeric functions in V.B.
(3) Explain Popup menu in detail.

5. Attempt any two of the following : [16]

Explain in detail about the steps for creating data reports
in V.B.

What is DSN ? Explain different DSN and procedure of creating
user DSN.

Design a form in VB to calculate total, percentage and grade.
Display six text boxes for reading marks of six subjects and
a Total, Percentage and Grade button. Write a program to
calculate Total, Percentage and Grade.



Total No. of Questions—7] [Total No. of Printed Pages—2

Seat
No. [4169]-218
S.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper III
Vocational Course—RDBMS (Theory)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) First question is compulsory and attempt any five from
remaining questions.
(i1) Draw a neat and labelled diagram whenever necessary.
1. What is RDBMS ? Explain features of RDBMS. [10]
2. Explain in brief the following with syntax and example : [6]
(a) UPDATE
(b) DELETE
3. Explain benefits of database in business. [6]
4. Explain the following functions : [6]
(a) INITCAP( )
(b) SQRT( )

P.T.O.



5. Explain in brief the following : [6]
() DDL
(b) NOT NULL

6. Explain the following with example : [6]
(@) Order by clause

(b) Select statement with where clause.

7. Write a short note on Data types in SQL. [6]
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4169]-219

S.Y. B.Com. EXAMINATION, 2012
ADVERTISEMENT, SALES PROMOTION AND
SALES MANAGEMENT
(Vocational)
Paper III
(Advertising and Media Planning)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What do you mean by evaluation of advertising effectiveness ? State
the methods of testing of advertising effectiveness. Explain the methods
of pre-testing. [12]

Or

Define brand name. Describe the functions of Branding.

2. Define media planning. Discuss the importance of media planning. [12]
Or
Suggest an appropriate strategy for advertising “Travel and Tourism”

business. dJustify your answer by giving suitable examples.

P.T.O.



3. Write short notes (any two) :

(a)
(b)
(c)
(d)

[4169]-219

Role of animation in advertising.
Elements of copy writing.

Advertising strategies.

Media scheduling and media frequency.

[16]



Total No. of Questions—4] [Total No. of Printed Pages—3

S;at [4169]-220

S.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES
Vocational Course Paper-III
(Income Tax)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]
(i) Explain the term ‘Person’ under I.T. Act.
(ii) What is meant by ‘revenue receipts’ and °‘capital receipts’ ?
(ii1) Discuss exemption for transport allowance.
(iv) What is ‘PAN’ and TAN’ ?
(v) Explain Deduction U/S 80 DDB.
(vi) Who has to pay ‘Advance Tax’ ?

(vii) When does liability to deduct tax at source arise ?
P.T.O.



2. Answer in 8 words each (any fwo) : [8]
(i) What is capital gain ? What are the types of capital gains?
(ii) What is gross annual value ? How is it calculated ?
(iit) Who can sign return of income ?

(iv) Discuss provisions of ‘Appeals’ under Income Tax Act.

3. Answer in 150 words each (any three) : [15]
(i) Discuss the powers of Income Tax Officer.

(ii) Define the term ‘Salary’. What incomes are taxable under the

head ‘Salaries’ ?

(iii) Is it compulsory to maintain accounts in the case of all assessees ?
If not, state the cases where books of accounts are to be

maintained compulsorily.

(iv) When is income of other persons included in assessee’s total

income ?

(v) What is meant by ‘Tax Deduction at Source’ ? Who and when

is required to deduct tax at source ?

4, Discuss in detail various types of Returns under Income Tax Act. [7]
Or

Shri Ram Murti submits the following particulars of his income for

the year ended 31-3-2011 :

(i) Salary at Rs. 30,000 p.m.
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(i1)

(ii1)

(iv)

(v)
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He contributed @ 10% of salary to his P.F. to which the employer
contributed equal amount.

He owns two flats one of which let out at Rs. 5,000 p.m.
and the other is occupied by him for residence. He paid
Rs. 1500 and Rs. 1,000 respectively as municipal taxes during

the year.

He received during the year Rs. 7,500 as interest on Govt.

securities and Rs. 7,000 as dividend from Indian Co.

He pays annual premium of Rs. 15,000 on policy and mediclaim

insurance premium of Rs. 8,500.

Ascertain his total income and tax payable.



Total No. of Questions—7] [Total No. of Printed Pages—1

Seat

No. [4169]-221

S.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper IV
Vocational Course—Software Engineering (Theory)
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40
N.B. :(— (i) First question is compulsory and attempt any five from

remaining questions.

(i1) Draw a neat and labeled diagram whenever necessary.

1. Draw an E-R diagram for SALES ORDER SYSTEM in which entities

are customer, item enquiry, quotation etc. [10]
2. Explain spiral model with diagram. [6]
3. Explain system implementation, follow up and maintenance. [6]
4. Explain the following : [6]

(@) System security

(b) Elements of the system.

5. Explain feasibility study. [6]
6. Explain flow charting symbols with diagram. [6]
7. Write short note on : Software qualities. [6]
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat
o [4169]-222
S.Y. B.Com. EXAMINATION, 2012
ADVERTISING, SALES PROMOTION AND
SALES MANAGEMENT
Paper IV (Vocational)
(Personal Selling and Salesmanship)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. What do you mean by ‘salesmanship’ ? State and explain advantages

and limitations of salesmanship. [12]
Or

Define ‘Personal selling’. Explain in detail qualities of an ideal

salesman. [12]
2.  Write short notes on : [12]
(A) AIDA
(B) Types of customers (any 6).
Or
Narrate your views on ‘Retailing in India. [12]

P.T.O.



3. Write short notes on (any 2) : [16]
(A) Marketing mix
(B) Reports and documents prepared by salesman
(C) Emotional buying motives

(D) Types of salespersons.
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No. [4169]-223
S.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES
Vocational Course Paper IV
(Wealth Tax, Service Tax and Central Excise)
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]
(1) Define valuation date under W.T. Act.
(2) What do you mean by “Debt Owed” ?
(3) What do you understand by “Location of Assets” ?
(4) What is “Service Tax” ?
(5) State the constitutional validity of Service Tax.
(6) State the constitutional background of Excise Duty.

(7) Define manufacture and manufacturer.

2. Answer in 8 words each (any two) : [8]
(A) State the various taxable assets under W.T.
(B) Write a note on “Assessment” under W.T.

(C) What do you mean by “Value of Taxable Service” ?

(D) Explain the types of Excise Duty ?
P.T.O.
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3. Answer in 150 words each (any three) : [15]
(i) How is the value of Building determined under W.T.
(ii) Which are the exempted assets under W.T. ?
(iit) Who is liable to pay Service Tax ? and How ?
(iv) How is the payment of Service Tax made ?
(v) State the ‘basic conditions’ for levy of Central Excise Duty ?
4, Answer in 500 words (any one) : [7]
(i) State the various W.T. Authorities under W.T. Act, 1957 and
their powers and duties.
(i1) Write down the Registration Procedure under Central Excise.

Who are exempted from registration ? Explain.
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